

$$\frac{3}{9} + \frac{9}{10} =$$

$$\frac{7}{10} + \frac{9}{2} =$$

$$\frac{5}{10} - \frac{2}{7} =$$

$$5\frac{3}{5} - 4\frac{1}{11} =$$

$$8\frac{7}{10} + 3\frac{1}{10} =$$

$$\frac{5}{8} + \frac{4}{11} =$$

$$\frac{4}{10} + \frac{3}{9} =$$



$$\frac{3}{9} + \frac{9}{10} = \frac{30}{90} + \frac{81}{90} = \frac{111}{90} = 1\frac{21}{90} = 1\frac{7}{30}$$

$$\frac{7}{10} + \frac{9}{2} = \frac{7}{10} + \frac{45}{10} = \frac{52}{10} = 5\frac{2}{10} = 5\frac{1}{5}$$

$$\frac{5}{10} - \frac{2}{7} = \frac{35}{70} - \frac{20}{70} = \frac{15}{70} = \frac{3}{14}$$

$$5\frac{3}{5} - 4\frac{1}{11} = 5\frac{33}{55} - 4\frac{5}{55} = 1\frac{28}{55}$$

$$8\frac{7}{10} + 3\frac{1}{10} = 11\frac{8}{10} = 11\frac{4}{5}$$

$$\frac{5}{8} + \frac{4}{11} = \frac{55}{88} + \frac{32}{88} = \frac{87}{88}$$

$$\frac{4}{10} + \frac{3}{9} = \frac{36}{90} + \frac{30}{90} = \frac{66}{90} = \frac{11}{15}$$

